BFDIYSR
vy EFL AYUhg | 2FE i B PN mE Ui | #iE [i:{iv3
42 |5 PAKER |pv1 vosas| N1 [ FSAHEKEY ST 1 4 3 2
A3 | Bl KF |wer7 avx |2 | IS4 HEKIEYST 2 1 4 3
44 [BEE Z +o4 kL | IN4 |2 kigoST | 3 2 1 4
45 | RE &j& vov vavs |ING (2o kiEY ST | 4 3 2 1
46 |EM FE |pvrr vavrxr| ER [OEREFERK—VIFT X X 3 2
AT |IMNIR B |anvy 71 [ Ih2 [mEEFRAR—YH 5T 1 1 4 3
48 |BE AN |4915 vk [IM [mEEERK—YHS5T 2 2 1 4
49 |BH BEE |rvus srea | IN4[GGSHY S5 T 3 3 2 1
50 |[B#t BN [ruozouer |3 |FaorkigyS T 3 2 1 4
S51IGE RE #9795 vav<| N3 |[FAVRKEREI ST | 4 3 2 1
52 |BH 1§25 |1v5 vo/27| INM | FTAVRKIEI ST | 1 4 3 2
53 1A By |rozr ross| M [FAURKRYST | 2 1 4 3
54 |[HHA BZE |75 v5 |2 |E)IAESISD 4 3 2 1
55 | EEH |75y~ onx |4 [ENKIEY ST 1 4 3 2
56 |5 H BEIE |7vx vaveq| N3 [ENAKIEYI ST 2 1 4 3
57 |EIf BIR |[sxv= vozs| /4 [ABHEEIES ST 3 2 1 4
58 |HE &3 [r/vz ast || ZAUREKERIST | 1 3 3 2
59 | KN BEIE  |#a07 suxq[IN1 | PAVRIKIES ST 2 1 4 3
60 [HTHA RiE |<x5 avzr |4 |74 oG85 T| 3 2 1 4
61 |8 ME |[sr40 27 | INA | TADRIKIESS T 4 X 2 1
62 |0 AIFEBR [#2 vores |ER(Y+S5—Li&kiRYST 2 1 4 3
63 [FRil # [7rvp aqr | IN2|TArS5—LIEYST 3 2 1 4
64 /NS KE |as= suv |2 |945—LkigYS5T| 4 3 2 1
65 (K% X wvy v3s | INS | KBRIKIRY ST 1 4 3 2
66 |{B1E Z2F |9z 1vx |FER|(KERKRK—VYHS5T| 3 2 1 4
67 [l BEE |czh7 naeq| /N4 | KRERAKR—YH ST 4 3 2 1
68 |[HE BA |r/9x ers | I3 |KERR—YH5T 1 4 3 2
69 [BEAR M |[sr% vor |2 | KREFLFKESIST| 2 1 4 3
10 |FER ®BZE [ wr 50 |4 |xs0z2K—vs5T]| 4 1 1 1
NRER VN EFY r448 | IMN |FEARKR—YHS5T 1 X x 2
12 | & WA 8= Ry [IN1 |84 2K—vs5T | 2 X X 3
13 |=58 fgd [sv5 avzxr | ER x84 2K—vs5T | 3 X X 4
74 |f8f E3k [zoAn sar |2 |=ov<kigr ST | | 3 2 1
75 |[F0R K [1X3 vus |3 |Zov<kigEYST | 2 1 3 2
76 ;5K ¥EZE |3z vy |ha|lzZov<@kiEsST| 3 2 1 3
77 ;R8 —{= |«o< v s [ExREEBEYS D 1 1 3 2
78 |IUA FRE |vv¥ vzen | | PKRKEI ST 2 2 1 3
719 |NHE Z89 [v7% xavzs| N3 FREEY ST 3 3 2 1
80 |HH R [s2+H L9y |INS |FHRRRKR—YHS5T 2 1 1 3
81 | KE FIIE |[+t#5< nqu|ih2 [7oRRRFE—YH5T 3 2 2 1
82 |BEAR F/AN |7t 220 | 1N |[FORRRK—VH5T 1 3 3 2
83 1‘ 2|K EIL,\ TYEL LYY Y| ING |mE7s v av 7o s—xmamkmsE 3 2 1 1
84 1K E£hH |=vzr vazr|INag pmrovavros—xxrmmnz| 3 2 2
85 [hH B A |[+r2 %+ |2 |7onzzk—vss5o8R| 2 1 3 3




EFDIYVSR

i l#8 e BEFEL AYDt | mOB o | mE va | ae | B2 | me
86 '8 KH 5wy v5 |6 |[RBERKREYISD 1 4 3 2
1 87 [HA Kl |1+ 543 |5 |ABEKIEYI ST 2 1 4 3
88 | XM B18 |++44 ~rnx |6 |EBHEEFEIST 3 2 1 4
89 |ZHE #EH] [=ov aqr |ME[FAVRKESIST| 4 3 2 1
90 | EFH —iKk [+H1 455 | IN6 |7ONRRRFE—YH5T 2 1 4 3
9 91 [ KE NYy 84% |ING |[FoRrRA—YH5T | 3 2 1 4
92 |BEH K |74 v<+ |5 |FENHKEREYSD 4 3 2 1
1 B |E2EF BB |vr1y »aq |5 | FE)IAKRY ST 1 4 3 2
94 |28 BF |rxs=vavi| /5 | KRIARY ST 3 2 1 4
9 95 |EEH BEI |vv% von |6 | KERKRY ST 4 3 2 1
96 |5 H BB |11 vavzy|dh1 [KERAR—VHST| 1 4 3 2
07 | KB B&E  [+415 con|h6 |[KERR—YHS5T| 2 1 4 3
08 | BAKER|vv= avsny|ihe | FIAHAKEBEYIST | 4 3 2 1
4 00 |FaHT HUAER [v45 =vvey [N [FSAAKIREYIST | 1 4 3 2
100| w31l 48 4777 4vx [IN6 | FSAHKIBEIST | 2 1 4 3
101[/hy 3 E |35= ro< |5 |94r5—LkigY5T| 3 2 1 4




BFCIVv35R

M[#|en| BER | YL (22 B B on | BB |28 ne | 2o we | 00 ew

1 |3 EKRBR 7% w1sas|ih2|2Rv o &BEYS5T| 1 3 2 1 3 2
112 |HE 8K |9z vavs|ih2|zRysEEIST| 2 1 3 2 1 3
3 [FHFEAR BEAN |zver <rr |4 2Ry HGBEYST| 3 2 1 3 2 1

4 |THR B [vx500 vy |Ih4 |7o122k—vs5788 | 2 1 3 2 1 3

2 5 1B KB |svvyx 70U |IN3 7o zzafk—vs5788 3 2 1 3 2 1
6 |[EE K1 |sv/ ¥=<b [ha|=sv<kigsr5T| 1 3 2 1 3 2

7 [EHR & N8 7h4 [IN2| FIANKESST| 1 4 1 4 3 2

3 8 |Et Xi# [vexqaz [m3|rzrrmgoso| 2 1 2 1 4 3
0 [fNLE BEX |hv< Lvk [INB|RIAHKEYIST| 3 2 3 2 1 4

10 (S BE |rs4» < [IN3|r3AAKEYST| 4 3 4 3 2 1

1 1 |XE & |51 1v* |Ma|AxvokBEs59] 2 | 1 | 4 | 1 | 4 | 3
4 12 [ K& = ttny vav [ING [ZRy o BkBEHST| 3 2 1 2 1 4
13 [{thE EKER |75 t15av| /N4 | 2Ry GBS T| 4 3 2 3 2 1

14 [BEH FIE |724 v>v [IN3|7o13=x2K—vs5T] 1 4 3 4 3 2
15|28 B[y |z7vxrosy|[IN3|rsAnthigoS5T| 3 2 1 4 1 4

5 16 |2)I| WEME [vzr7 5 [N r3AnthigsST| 4 3 2 1 2 1
17 8 RN |[789~ 9o |INa|r3AHEEYST| 1 4 3 2 3 2

18 |&E = BANT Sv | INA | KBRRR—YIS5T| 2 1 4 3 4 3

19 [1EH BEZE |o44% 7%+ [N |FaorEEBEYST| 3 2 1 3 2 1
6|20(mm K [7o4s avss|ma|raozimigoso| 1 3 x 1 3 9
21 |BAR A3 |snx vxr [Iha|KEHFLERYST | 2 1 2 2 1 3




BFCcIv5R

||| BFE | surn (28] F B on | BB |28 | we | 2| we | 00 Dew

22 |#1E BRER |454 z44 [h6[rozzk—vs5T] | 4 3 2 1 4

1 23 |18 =K |grvr ros |ihe 7oz zk—vs5T | 2 1 4 3 ) 1
24 3Bk BR |avev svx |5 |Tozzk—vs5T | 3 2 1 4 3 )

25 |IZBs R [a=v orx [N | KERIKRY S5 T 4 3 2 1 4 3

26 |[¥AE K#h |=vx 245 |6 |=ov<ikigsS5T| 4 1 3 3 2 1

2 27 AR BAR |#rEr 3vs (1 |7oszzk—vss5o8R] 1 2 1 4 3 2
28 [BE 15H |5515 194 |5 |mEEFRAK—VH5T [ 2 3 ) 1 4 3
29|50 377 Vavs |INS (AT S hEESIST| 3 4 X 2 1 4

30 [ludh A |vvr» w15 |5 raAhikigSST| 4 3 1 4 2 1
113 31 (At {Z—Bf |59» voaron [h1 | S HEBIST| 1 4 2 1 3 2
32|ARA B |55 rocv|h2|rsrhtkiBYST| 2 1 X 2 X 3
33| B |v/vx eqn|h2|Zh1KIRYS5T| 3 2 3 3 1 4

34 |HBH* AL |51 vaves [h1|FaAoRKBYST| 2 1 3 1 4 3

4 35 |AH MR |51 a3yt [INS|[FAUREBYST| 3 2 x 2 1 4
36 |IRE # 287 XX+ |IN6|[TAURIKIEYST| 4 3 1 3 2 1

37 MR H|(= |hvs s+ [h6|7avrEBIST| 1 4 2 4 3 2

38 |HFHH —F |3avy nxx|he6|vnr-#kigsS5T| 3 2 1 4 1 4

5 39 [Lleh BF&  |vwra ok [INS|(UOBTEKIRSST | 4 3 2 1 2 1
40 | KIE B |+415 vrx [h2 | KERKR—YHIST| | 4 3 2 3 2

M (hnER BRE] |hR vavr [INS|VICRE—YHST| 2 1 4 3 4 3




